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Infl}i= z=1/{1+I)
In[2]:= {Abs[z], Arg[z]}
1 -Pi
Out[2]= {------- g BEEk
Sqrt[2] 4
In[3]:= z=(3+I)/(1+3 I)
In[4]:= {Abs[z], Arglz]}
4
Out[4]= {1, -ArcTan[-]}
3

In[5]:= N[%]

OQut[5]= {1., -0.927295}

In[6]:= z=1/Conjugate[1+I]
In[7]:= {Abs[z], Arg[z]}
1 Pi
OUt[T]: { """" ] "}
Sqrt[2] 4
In[8]:= z=Abs[1/(1+1I)]
In[9]:= {Abs[z], Arglz]}
1
Out[9]= {------- , 0}
sqrtl2]
In[10]:= (31 -7)/(I+4)
25 19 I
Qut{l0]l= -(--) + ----
17 17
In[11]:= (.64+ .77 1)"4
Out[ll]= -0.937808 - 0.361321 I
In[12]:= Sqrt[3+4 I]

Out[l2]=2 + I
In(131:= 25 Expll 2.]
Out[13]= -10.4037 + 22.7324 1

In[14]:= Log[-1]

Out[14]= I Pi
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